7 EXERCISE 5.2

Subtract :

N =6 e =7 -8 ~9 4 ik -6
(1) T from = (i) I3 from = (i) Fed from i (iv) 5 from Y
=0 -4 o= 4 g 8 =il -2
(©) 13 from 39 @) b3 from T (vii) TS from T (viii) .y from —=
Evaluate each of the following :
i B B .7 5 2[5 co 2 4
(1) 773 (it) 379 (iii) 7" {—6—] (iv) 15 —2—5-
1 5 -6 2 7 1
_22 _6 . N (e - RS .
(v) 5 (vi) 3 [21) (vii) 3 (_9) (viii) 5
What should be subtracted from _—23 to get _1—4?
5 41
What should be added to 3 to get ﬁ?
_ 3 11 15
Subtract the sum of - and 12 from the sum of ” and o



